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Properties of relations

Reflexivity

a reflexive b irreflexive 1 neither
some objeck

iff every object if no obtect
related tothemselt

is related toitself is relatedtoitself
some aren't
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Transiti ity

at transitive b not transitive intransitive
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Special combinations of properties

equivalence relation reflexive symmetric transitiv

partial order reflexive antisymmetric
transitive

example Let R be a relation on 11 4 95 1

such that a b R lid iff ad be
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Prove R is an equialence relation

reflexive ab ba so by defin of P

laibl Rcaibl for all a.be It

Symmetric let Iasb and ad E It
and suppose laibl R Isd

Then by defnof R ad be ab da

so by defin of R cld R aib

So R symmetric

transitive let laib c d left 2 72
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please look at textbook for antisymmetry
proof


